
Emergency Products

2-69

UltraStar® STROBE BEACON
250721 AND 250741 (PREMIUM)

290A3623B

11

7
8

5

10

19

16

17

20

21

262223

25

14

3

2

1

9

24
18

11

15

12

14

4

13

6

7 16

(US7TP) (US7TM)



2-70

PPL0308
PARTS LIST

1 Dome Cover, Deep Amber Z8444310-06
Dome Cover, Red Z8444310-01
Dome Cover, Clear Z8444310 1AR 1AR
Dome Cover, Blue Z8444310-03
Dome Cover, Green Z8444310-04

2 Dome, Clear, Tall 5.81" Z8422B428A
Dome, Deep Amber Amber, Tall 5.81" Z8422B428A-06
Dome, Blue, Tall 5.81" Z8422B428A-02 1AR 1AR
Dome, Green, Tall 5.81" Z8422B428A-03
Dome, Red, Tall 5.81" Z8422B428A-04

3 Screw, #8-32 x 1/2" Thd. Cutting, Type F, Phl. Pan Hd. Z7010017A-08 2 2
4 Screw, #8-32 x 3/8" Thd. Frm., Hex Wash. Hd. Z7011A103-06 3 3
5 Support, Strobe Tube Z8444293A 1 1
6 Tube Assembly, Strobe Z8444308A 1 1
7 PC Board Assembly, Premium Z2005021A-01 1 1
8 Gasket, Spacer Z8444311A 1 1
9 Wire, Terminated Red 10" 1 0

10 Wire, Terminated Black 10" 1 0
11 Insulator, Silicone Pad, .06ft. ZR50-02-01 1 1
12 Gasket, O-Ring Z8444295A 1 1
13 Bolt, Carriage 1/4-20 x 1-1/8" Z7004A020-18 0 1
14 Base, Strobe Z8444292A 1 1
15 Nameplate, Model 250721 1 0

Nameplate, Model 250741 0 1
16 Label, Warning Z81461337 1 1
17 Screw, #10 x 3/4" Thd. Frm., Phl Pan Hd. Z7011182A-12 3 0
18 Gasket, Flush Mount Z8444294A 1 0
19 Magnet Assembly Z8550A012A-02 0 1
20 Lockwasher, 1/4" Split Z7074A016 0 1
21 Nut, Hex 1/4-20 Z7059A020 0 1
22 Dome Plug Z231176A 1 0
23 Bushing, Strain Relief Z231174A 0 1
24 Plug Assembly, Fused Z8444299B 0 1
25 Fuse, 8 Amp Z148A128A 0 1
26 Mylar Cover, Magnet Z1611464A-01 0 1

Kit, Accessory (Includes items 17 & 18) Z8444332A 1 0

Item Description Part No. 250721 250741
No. (US7TP) (US7TM)

DO NOT ORDER PARTS BY ITEM NUMBER.
Give model, description and part number.
When a part number is not supplied, the part is NOT available.
Refer to PARTS PRICE LIST (Part No. 1001) for prices of parts.

Printed in U.S.A.

Federal Signal Corporation
2645 Federal Signal Drive
University Park, IL  60466

 UltraStar® Strobe Beacon
Models 250721 and 250741 (Premium)

January 2003
(US7TP) (US7TM)


	SECTION 2
	Model  Page Number
	100-012 
	 100E-012 
	121, 121A,121AH, AND 121H 
	SERIES B1(VitaLite™) 
	141-012 AND 141-024(ElectraFlash™) 
	BR2S AND BR2SH SERIES A1(Scat-O-Ray®) 
	CFFF-SB SERIES B(CrossFire®) 
	DS1 AND DS2 
	DS1 AND DS2 SERIES B 
	SICLFK(CORNER/END MOUNTING)(DynaRay™) 
	SCICLK AND SCICLFK 
	(CENTER MOUNTING)(DynaRay™) 
	FB2DST, FB2MDST AND FB2PDST SERIES C(FireBall®) 
	FB3 SERIES(FireBeam®) 
	FB4SM AND FB4SD(FireBeam®) 
	SIGM1 AND SIGM2(SignalMaster™) 
	320102(SML1), 320112(SML2), 320142(SML4-30), SML4-30-24V, 320162(SML6) AND  
	SML6-24V(SignalMaster™)
	SIGM8(SignalMaster™) 
	320172(SML8), 320172-24V(SML8-24V), 320182(SML8-30), SML8-30-24V AND   2
	
	SM428A-NFPA AND SM518A-NFPA(SignalMaster™) 
	SML14AB (ARROW BOARD)(SignalMaster™) 
	TCLF 
	SY12F, SY12S AND SY24S (ROTATING)(Sentry®) 
	SY12VP AND SY12VS (OSCILLATING)(Sentry®) 
	ML1 AND ML2 
	MS1 AND MS2 
	MS2C-FD AND MS2C-GM 
	131SH AND 141SH 
	131SH AND 141SH SERIES B 
	US5TP, US5SP, US5SM AND US5TM(UltraStar®) 
	US5QTP, US5QSP, US5QSM AND US5QTM 
	(QUADFLASH)(UltraStar®) 
	US7TP AND US7TM (PREMIUM)(UltraStar®) 
	GHSCENE 
	GH1 AND GS1 
	GS2 
	GS2F 
	GH1F, GH1NF, GS1F AND GS1NF 
	GH3F, GH3NF, GS3F AND GS3NF 
	TMS1 
	TMS2 


